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UNIVERSITY OF NORTH BENGAL

B.A. Honours 5th Semester Examination, 2021

DSE-P1-SANSKRIT

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

The question paper contains DSE-501A and DSE-501B.
Candidates are required to answer any one from the two Papers and they should
mention it clearly on the Answer Book.

DSE-501A
fa9mT-
1. % fOaRvr e — 12x1 =12
(P) UTAAAINTETHRIRIGTT AU ST ACTAFI JATATI |

(M) AEUGHI (hIRIRT daherd SMags AR |

2. HelUu ¥RYT Bl gAL — 6x2 =12
(@) TavferaresTi3ca FHfe: quiaT |
() o @ef aaq fayfauremisea fagop |

(1) AT FRIGTAT AR ARFAGHT AR |

3. gl ARERT — 3x2=6
() <YEERERI TR |
(T) IR W eTed: | |
(1) "FRAITE [AguIsi qerselsHdsr’ |

forT-
4 yeRRE A — 12x1 =12
(@) AR Igiearmder e agdvlicdy: ATeds AR |
() TMdradfaen dHHdwd faguLd |
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2.

Uh IRATT —
(F) TR Fd FHARET: HHAZ I I |
SRR AO] qaTg: IS e |
(@) 7 & = wgel ufaafde fded |
T ANRIRNIG: Bl fawfril

Jergur AT BT AL —
(P) TSARITDHHT:
(&) BB eaarsar:

(3T) ARTTHADBIET:

YOOI ST TSI —
(@) faae 79a fharg ?
() IoNT: 3 Uew Arafdwes §od |
() 9ITET PaT A Jolfd ?
(€) WaAIad Qe Sy Yol 9 HafT ?
() H9 gHIA= 3T Ul TH gag DIse: ?
(@) Maradiesn reer: $ Fwon Rifg 9= ?
(B) FHW: D T geI= ?
(W) ‘Frage:’ g uew dIse: ?
(37) FAHHIT D WA ?

DSE-501B

frT-o

PRIIRHT IR UQIH —

(P) RINPAYEIATAR WRATHRUGIEH IATA=I |

(@) AREGAITIIRYT FADRIAEH 3T |

gan: feoofy st —
T, JICTFANT:, TUuTh-MISUTD: |
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3. g iR yeaHq —
() IRAATRAHELTAIGR & A FAFTSL: ? H AW 5T FSl ?
(@) AT SR B TG ? 9 YamR: B ?
(1) RIS Uaehl & ? ARHAT G bicl THAIONM WP ? By qiey 2

-39

4. HRRH IR <Y —
(P) d|qu<1wQ|u|3<1|<U| QEICHATG ATARTGHTA R |
(M) encgczzivﬂgww gfTdhare Afdered S |

5. gan: feoofy st —
fasmare:, Ay g=Y:, rfaare: |

6. gl YT AferdaR G —
() Adipa R AR M f6q ? B TR TeHfERH ?

() SIFEYEY SR A ¥ ? SIRAT ARG Hid FAONE WGl ? S 4

i ?
(1) PR & ? IRAISITIICRY HRAT TR 31 WP ?
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